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Run 4370 mpswise, acc0: All

Entries: 1228238

Mean: 7.9276 +/- 0.0107

Std Dev: 11.8616 +/- 0.0076

Run 4370 mpswise, acc0: All
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Run 4370 mpswise, acc0: Beam OFF

Entries: 195729

Mean: 4.2673 +/- 0.0661

Std Dev: 29.2520 +/- 0.0468

Run 4370 mpswise, acc0: Beam OFF
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Helicity==0

Helicity==1
Entries: 294258

Mean: 9.6329 +/- 0.0009

Std Dev: 0.5137 +/- 0.0007
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Run 4370 mpswise, acc0: Beam ON, Laser ON
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Mean: 7.4107 +/- 0.0013

Std Dev: 0.5955 +/- 0.0010
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Mean: 7.4486 +/- 0.0014

Std Dev: 0.5961 +/- 0.0010

Run 4370 mpswise, acc0: Beam ON, Laser OFF
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